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SA B (E) - NRAY - BES 0f & o SSa H D52
S X3 A 429,291 417,964 11,327
s3HA =24 & 29 429,291 417,964 11,327
SMNLMS (SSMHLAY) 429,291 417,964 11,327
S2UMNLMY FI(SLMLAY SL3IH) 13,170 13,170 0
201 Let24E] 2,970 2,970 0
02 3224l 2,970 2,970 0
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247,500 * 12043 2,970
202 Oddl 1,200 1,200 0
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O3S MHLAE =& HI
20,0003 = 2921 = 30 1,200
401 AIEHIZL 2 CHEI 9,000 9,000 0
01 A& HI 9,000 9,000 0
O&sSZEHAE ZHISA 9,000,000 =+ 14l 9,000
OlHlH (S HE ALY S35 H) 416,121 404,794 11,327
801 0l 8l 416,121 404,794 11,327
01 etoildl gl 416,121 404,794 11,327
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